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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 S=fafeT # @ i o Ty BT ov R & @ g v @ gehar 32

STRONG
Select the option that depicts the correct mirror image for the given word.

Question ID : 9864494263
Status : Answered
Chosen Option :2

STRONG
Ans X 1. GNORTS

v 2 GNOT2

X 3. 2LEONC

# 4 GNORTS
Q.2 Distribution of various Minerals in Human Body

Sodium
o

Question ID : 9864494251
Status : Not Answered
Chosen Option : --

e
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aon
Calum
5%
wron
1%
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Distribution of various minerals in the human body- H=a 2T # Rfde
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The given graph shows the distribution of minerals in the human body.

Based on the given data, if a person has a total of 1000 IU of all the mentioned minerals in
his body, what is the units of calcium distributed in his body?
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Ans X 1.300 IARSET geEar (IU)
< 2200 FTQTET FHEAT (IU)
X 3500 IHAWTSET ghEar (IU)
v 4 400 FATWET gEam (IU)

Q.3 f&w 777 =) faweul (Answer figures) & & i & 713 Hfa & F # TS
arer wér uiafd e

Problem Figure

4

Answer Figures

2e3®

From the given four figures choose the correct water image of the below figure:

Problem Figure

4

Answer Figures

293®

Ans X1 A
X2C
VD
< 4B

Question ID : 9864493707
Status : Answered
Chosen Option : 3

Q.4 10 F T FAW FeRruw, FACE T F 72§ 77 FEE, 00 F ey
et ¥ ST S1ar &1 G 1 GHFET Siaier % a{E] 2|

Two identical resistors, each of 10 £, are connected in parallel. This combination, in turn,
is connected to a third resistor of 10 Q. The equivalent resistance of the combination
is

Ans X110 Q
X2300
vil15Q
K450

Question ID : 9864493306
Status : Answered
Chosen Option : 3

05 T IR avg H A T g A &2
What does the kinetic energy of an object increase with?

Ans Trﬁ'T

Friction
HAT
Time

Question ID : 9864493042
Status : Answered
Chosen Option :2

Q.6

Question ID : 9864492715
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gl fawol & arng ar geh?

The length of one side of a thombus is 13 cm and one of the diagonals is 10 cm. What is
the length of the other diagonal?

Ans x 1 22 HeART
22 cm
23 HEHIET
23 cm
24 HEHIET
24 cm
25 HEHIET

25 cm

<2

W 3

X 4

alert.in

Chosen Option : 1

Status : Answered

Q7 7% W I=Es AR # HT Tow £ % s A § 7% S e
fafea /81

s
HETT I 9T o]

ECCICH

E-J

1. HEH AT AT oT|
2. AgIT o= A F

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
Alexander the Great was mortal.

Assumption:

1. Alexander the Great was human.
2. Alexander the Great is a Greek.

Ans (1.aa—c|?~rﬂmn1ﬁ|1%?r%

Only assumption 1 is implicit

x2.13ﬂ?2aﬁﬁ%?-r%

Both 1 and 2 are implicit

3_ma’r1:|T2ﬁﬁ%r-r%

Neither 1 nor 2 is implicit

, Fae o 2 fafga ¥
Only assumption 2 is implicit

x

x

Question ID : 9864493858
Status : Answered
Chosen Option : 1

W A= 7 ¥ Fla @ vF AT gear g2
Which of the following is a surface phenomenon?
Ans STHAT

1.
x Freezing

EECGI
Melting

arsyienoT

| Evaporation

X2

3

Question ID : 9864493508
Status : Answered
Chosen Option : 3
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Q.9 ws == #, afy GREEN &I ITGGP forar siar § ar S8 &g 3 PINK & &%

Torgr Sree?

If in a certain code, GREEN is written as ITGGP, then how will PINK be written as in the

same code?

Ans 1. KLON
< 2 TUMJ
X 3 RKQS
v+ RKPM

Question ID : 9864494265
Status : Answered
Chosen Option : 4

Q.10 'z %2w - g T 3iF A SHAN AHF FdF & o Hid §, A o
T H Z HEH - § W HiE A% AN gremggta §7

‘Who wrote the book ‘Two Fates — The Story of My Divorce’, which is a parody of Chetan
Bhagat’s ‘Two States — The Story of My Marriage’?

Ans

x 1 AfETr e
Namita Gokhale
X2 g Hierer
Swati Kaushal

W3

x

:g'a.“r CIGG]
| Judy Balan

434%11%@

Arundhati Roy

Question ID : 9864492401
Status : Not Answered
Chosen Option : --

O 3w R # TE F S FEg § wafAg A€ ¢

A

F

Z

E

1

2

3

4

Question ID : 9864493659
Status : Answered

Chosen Option :1

Select the figure which does NOT belong to the group,

A

F

Z

E

1

2

Ans (1_4
X 21
X33
X4.2

3

4

Q.12 Tl Rt & O Sl o gad sler 7er g, =it 8,15 3 20 & 7oie: Renfeae

Find the smallest square number from among the given option which is divisible by each

of 8,15 and 20.

Ans X 1. 6400

X 214400

W 33600
X 44900

Question ID : 9864492520
Status : Answered

Chosen Option : 1

Q.13 wer g i 10 Hieg i Furs T Frmr 2 &) 77 SHe W e £ i 2 s A
FITS T AT 30 SHTe & | SR 3 G, Ffast Ft A e Sieere $rare gge

A ball is dropped from a height of 10 m. It strikes the ground and rebounds up to a height
of 2.5 m. During the collision, the per cent loss in the kinetic energy is:

Question ID : 9864493082
Status : Answered
Chosen Option : 2
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< 2.25%
3 75%
X 4.50%

Q.14 =157 A Rrelr o7 ge 3% #7128 9 F WO F TEAT g, Sl W59 B H
Tl & &t 35 U H W T 1 I T A & ae, Awfouw w9 F I
ST B TT 3R ST A 3N B & UF ¥ 9% wF, v 6 & e aEw o Status : Not Answered
o s £, @ ¥ wreh St 3 fraer wEw e Chosen Option : --

Question ID : 9864492871

Pipe A can empty a filled tank in 28 hours while Pipe B can fill the same tank, when
empty, in 35 hours. If alternately Pipes A and B are turned on for an hour each time,
starting when the tank is full, how long will it take to empty the tank?

Ans v 27 {518
271 hours
275 °<
275 hours
279 T
279 hours
280 =&

280 hours

X 2

X 3

p

Q15 gEragT PT%FT Iega A==
2 2017 % frw T w @ Question ID : 9864492402

The 2017 Brahmaputra Literary Festival was hosted by which city? Status : Answered
Ans RICGED Chosen Option : 4

wr Lucknow
SHreTentdl

Kolkata
fRrermer

| Shillong

a2
Guwahati

X2

X3

Q.16 102 By geaT RrsnfSra T ST =SfRT arfes 9wt 20 9o
10 2 Eﬁ il 2 20 g’r‘? Question ID : 9864492522

By what number should 10 g be divided to obtain 20? Status : Answered
Ans X ] & Chosen Option : 2

15

X2~
3 —
?{'4.i

Q.17 TS & I 37 16 99 § i 306 Tuy 95 H g0 35 7 a9 gl Faer aof &
a1 (e i 37 Ig% T 1S & 3 dr 1.5 3@ 8 Sei? Question ID : 9864492712

Rathin is now 16 years old while his cousin is 7 years. After how many years will Rathin’s Status : Not Answered
age be 1.5 times that of his cousin? Chosen Option : --

Ans X1 0
X212
<310
v 11




QI8 g -FxF + g ~ T+, xFIFT -+ F x &,

Ans

14+ 28 &1 pw faofla {1 .

If —means +, + means +, x means —and + means x, then determine the value of 35 -7 x

14+ 28,
< 1.20
X215
<324
v 419
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Question ID : 9864494299
Status : Answered
Chosen Option : 4

Q.19 Rw 71w 7% = RFER #1 @ 77 F & & 7 e F § ey s

fafee &7

T

HAHATT:

1. mEA. &7 $ iR R §
2. FEE. T FAA HFE WweTw St # el & gea Fer

£l

HEA. FEY & FRUT, FF WHFII SN o A Al BT &

Consider the given argument and decide which of the given assumptions is (are) implicit

in the argument.

Argument:

Due of IT recession, many software engineers lost their job.

Assumptions:

1. IT sector jobs are not secure.
2. IT sector companies lay off software engineers quite often.

x

1 3R 2 gt fafga

Both 1 and 2 are implicit.

<

Fae A= 1 AT

Only assumption 11is implicit.

x

3%3?434@?11?2%1%?%

Only assumption 2 is implicit.

v

1 3R 2 3 & R ad &

Neither 1 nor 2 is implicit.

Question ID : 9864494028
Status : Answered
Chosen Option : 4

Q20 57 R 1 T¥A L S AW R 70 wHg ¥ @ 7@ 3

Ans

B

.E|.

o /o

A

B

C

D

Select the figure that does NOT belong in the following group.

E -Q.

o[oe]s

.E,

A

vic
X2 A
X 3B
X 4D

B

C

Question ID : 9864494032
Status : Answered
Chosen Option : 4




wAAAALaovtiobsalertin
~J J

Q.21 ol F&m & @iy 10 o5t & vk oliewm F Hiog wredis 15 o1 FafF Far &

Ans

mefr 25 ot F e oden F e goaw 16.2 a1l e & Teh ot
stag war ar?

The mean score in a test of the 10 boys in a class was 15 while the overall mean of the 25
students in the class was 16.2. What was the mean score of the girls?

< 1.16.8
Vv 217

X 3175
X 4165

Question ID : 9864492658
Status : Answered
Chosen Option : 3

Q22 geprer TREWUT & EHI def 34l hid o §7

Ans

What are the products formed during photosynthesis?
X1 e 3 terdiste
Starch and Oxygen
X2 Terd, Siel 3 siferdisie
Starch, Water and Oxygen
ToIhIaT, el 3N Jifereiare
) Glucose, Water and Oxygen

4 Tofehlal 3R 3iTerdiater
| Glucose and Oxygen

v

Question ID : 9864493416
Status : Answered
Chosen Option : 1

Q.23 feuy 12 A7 AT Fo HEAT TliEs & BT T 5000 W FHAT§| T AT B HET T 50

Ans

AR v ot FHE T 40 1 THET T HRAT 6 HEAT T e B HEA W 7T
e T

Vishnu spends ¥ 5000 in buying 12 tables and some chairs. The cost of one table is T 50
and that of one chair is T 40. What is the ratio of the numbers of the chairs to the number
of tables purchased?

X 1.55:4
X25:1
<35:2
v155:6

Question ID : 9864492505
Status : Not Answered
Chosen Option : --

Q.24 2017 F HRAT AGAT F AT @ AT Tz AR T P &2

Ans

Who is the first female pilot to be inducted into the Indian Navy in 20172

&M FHHBR
Dipa Karmakar

, TR FHH

Zaira Wasim

Ko

x

v

| Shubhangi Swaroop

Question ID : 9864492184
Status : Not Answered
Chosen Option : --

Q.25

Question ID : 9864493686
Status : Answered
Chosen Option : 2
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How many triangles are present in the below figure?

ans /110
X2 8
X9
X486

Q.26 Te=fef@d & & B Fas F IR T gt §, 7= s Fer o sfatag

Y T A E

In which of the following tissues are the cells living, elongated and irregularly thickened

at the corners?

Ans v IS AT
Collenchyma

Tl {TahTg AT

| Sclerenchyma

NArsAT

| Parenchyma

TLASRIEAT

| Aerenchyma

X2

X3

p

Question ID : 9864493215
Status : Not Answered
Chosen Option : --

Q2 48 3T 54 =T o W B2
The LCM of 48 and 54 is:
Ans X' 1. 6x2x%x9
X26%x8x3
X 348 x 54
vi6x8x9

Question ID : 9864492822
Status : Answered
Chosen Option : 1

0% Trfaf@a a1 T H

XIGP : 172716 :: ZHEJ :

Complete the following.

XIGP : 172716 :: ZHEJ :
Ans o 1191510

Question ID : 9864494090
Status : Answered
Chosen Option :1




# 2191501
# 3191511
~ 4191601
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Q.29 Ftg WEwT F BT R # ¥ Fi9 @ VI F FF g 82
Which of the following is NOT a pollinating agent for cross pollination?

Ty

XK o ?
Wind
e

' Water

X3
Animals
oo
Plants

Ans

K2

Question ID : 9864493238
Status : Answered
Chosen Option : 1

Q.30 wi= 71 9t Frrex afAeaTg &1 S-Fass &R e a9 ‘affe aesasr
¢, # ogFa mioe 87

‘Which famous cricketer co-owns the Pro-Kabaddi team from Tamil Nadu named ‘Tamil
Thalaivas’?

Ans Hﬁﬂ' é%ﬂaﬂ_{‘
v &)
Sachin Tendulkar

, T omear
Ravi Shastri

X3 : |
Krishnamachari Srikkanth
4 ellel IMTERT

Sunil Gavaskar

X

Question ID : 9864492310
Status : Not Answered
Chosen Option : --

Q31 fy e guRIeAs oF $ afFa +2.0D 7, & 7@ F=r 2
If the power of a corrective lens is +2.0D, then it is a:
X ;. 3ol g
CONVeEX MIrTor
X, FTET EH0T
concave muror
v o 3T
convex lens
X 4, H oW

concave lens

Ans

Question ID : 9864493604
Status : Not Answered
Chosen Option : --

Q.32 = # ¥ foruer oI & waw & U5 GO, TRl GOT #2017
#F wsg B gAfT TR

‘Who among the following dedicated the Chenani-Nashri Tunnel — the longest road tunnel
in India — to the nation in April 20172

Ans « ) a__na EFﬂfI'
Narendra Modi

Question ID : 9864492367
Status : Answered
Chosen Option : 1




YOI A
’ Pranab Mukherjee
x5, 2T Hegeel
Omar Abdullah
Chandrababu Naidu

x

x
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Q.33 TFraffd § ¥ Fia-a1 2alier B a1 e g €, o e stk aifgas

dreanfAaraa g e

‘Which of the following is the third member of the Dobereiner triad, that also features
Lithium and Sodium?

Ans W_q’lif'ﬂ'an

Potassium
T
Boron
aRTH
Barium

EEIEC]

| Hydrogen

X 2

X 3.

K4

Question ID : 9864493173
Status : Not Answered
Chosen Option : --

Q34 frrafoTed #@ell H QT FIA dTell el HEIT TABTI

0, 1, 8, 27,7
Find the number which will complete the following series.
0,1,8,27,7?
Ans X125
X216
x3125
v 64

Question ID : 9864493698
Status : Answered
Chosen Option : 4

Q.35 X ufRas & 3iv 3 Freiwier o ¥ st R geew 4 BenieT 3o & aix
=TAAT §1 X T O & ARfEE o dfaw fig F & o mgeae g
gl

X walks 3 km towards west, and then turns and travels 4 km towards north. The shortest
distance between the start and the end point of X’s journey is

Ans m_sﬁa—on:ﬁa
8 km
6 fraaeT
6 km
5 frdr#eT
5 km
7 e

7 km

X2

v

X4

Question ID : 9864493916
Status : Answered
Chosen Option : 3

Q.36 T 3Rk T s aaT HaE 3el $ 3R AT L s s o

A curved mirror where the reflecting surface is curved inwards is called a:

Question ID : 9864493363
Status : Answered




Ans T 9T

plane mirror
FHadel guoT
| concave mirror
X, BHEEFead gquT

plano-convex mirror

Jcdel gIuT

convex mirror

X 4

WWW. govtjobﬁalert. 1N 056n ption 2

Q.37 F=faf@T godearl & 9¢ 3K & T8 AR § I8 T F F FT T (@
I FFdeT 1 HEIT T § ST (T §) T
qFdea:
T T gaTE R SR G L
fors:
1. wAF Tl & e & =@ ¢
2. 8T fordl &t Hefia & X el A SfEeT Sfae 3 AR dge =hew

Read the following statements and identify the logically correct conclusion from the given
information.

Statement:
Time and tide wait for none.

Conclusions:
1. Time is not in anyone’s control.

2. One has to keep moving in life forgetting the bad experiences of past.

Ans x1_
1 3R 2 g1 & T 78 A §

Neither conclusion 1 nor 2 follows.
1 3R 2 2t srgaRer ad g

Both conclusions 1 and 2 follow.

| hadl S 2 Jgator ST g

Conclusion 2 follows.

, Ao fAshY 1 31eator T g

Conclusion 1 follows.

v

x

x

Question ID : 9864494168
Status : Answered
Chosen Option : 4

38w v et #§ W wIfR oeg 1 99T HRT:
gfgar : e o T@T
Select the related word from the given alternatives:

Wheel : Spokes :: Fan :

Ans hd

Question ID : 9864493857
Status : Answered
Chosen Option : 4




gar
Air

X4
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QY T T TR TR N it T s e FRr=aa

T T T T B
e

1. 3T 60 7T F
2. 38 T 40% Frer 2

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How many cows in a herd are black?
Statements:

1. There are in total 60 cows.
2. 40% of them are black.

F !
T =TT wee & 3 &7 & AT 1 el goicq &, saie 2 3ehell 9T =ar
gl

Statement 1 alone is sufficient but statement 2 alone is not sufficient to answer the
question.

X 2
T 7T qe F 3o & ¥ v 1 3t 2 =t v mmyr w6 § s v
F 3ol o & v AR s Fr T 7

Statements 1 and 2 together are not sufficient, and additional data is needed to answer the
question.

v &)
BT 717 7o &7 e’ & F e 1 38kt 2 &= v @1y woew &, afEw o=t
¥ Tdeg A& F

Both statements taken together are sufficient to answer the question, but neither statement
alone is sufficient.

X 4
T T WoT F 3o & & AT 2 3ner wAg &, SafE 1 3RReT AT g
2l

Statement 2 alone is sufficient but statement 1 alone is not sufficient to answer the
question.

Question ID : 9864494253
Status : Answered
Chosen Option : 3

Q.40 T & ¥ #iF ¥ ifaFaEl o scoomas 7o (Buoyant force) & aifdeT Hr

Ans

T $1?
Which of the following physicists explained the existence of Buoyant force?

e
1 HSA® 73
Isaac Newton

e ENEaPEE)
Archimedes

=l ITERoT
< 3
Blaise Pascal

qACH IPTESA 3 FHorrd
4.
Charles Augustine de Coulomb

x

Question ID : 9864493419
Status : Not Answered
Chosen Option : --

Q4

Ans

& HEATHT T 3 15 : 11§ 3 37 AgedH TAEas13 B, A TEa A
X

Two numbers are in the ratio of 15 : 11. If their H.C.F is 13. Find the numbers.

X 1195, 141
X 2196, 143

Question ID : 9864492463
Status : Answered
Chosen Option : 2




W 3195, 143
X 4195, 142
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Q.42 fzw 71T =e = 98 3 FeetafEE 9eF & 3T &

Ans

giaoT #, wdt ‘A’ F Free 9faerT (v guEe TU % quittee) d@e Sfelr &2

et o e e

= T Il P P =
1 A 40 37 35 27
2 B 6 26 76 86

3 C 83 71 4 21

4 D 1 7 3 11

Read the given chart and answer the following question.

In south, what is the percentage of seats won by party A (round to one decimal)?

Parties and Seats won
Serial |Party | Sout |East | West | North
number h
1 A 40 37 35 27
2 B 6 26 76 86
3 C 83 71 4 21
4 D 1 7 3 11
& 1.30.5%
< 2.30%
V' 3.30.8%

X 4 31%

Question ID : 9864493771
Status : Answered
Chosen Option : 3

Q.43 drex v e F 3HT A 5 aF F 3w § 35 I Tger =9 I F RBEw gaw
oT 30 WA WX & 3F H AR I, F & 3/ & 5 A & aqas a1 oA
F g=r % 3T I F E?

The difference between Peter and Preeti’s ages is 5 years. When they married each other
35 years ago, 4 times Peter’s age was the same as 5 times the age of Preeti. What is the

Ans

current sum of their ages?

x 105 99
105 years

11299

112 years

11599

115 years

110 I
110 years

X2

Question ID : 9864492732
Status : Answered
Chosen Option : 3

Q.44

Question ID : 9864493785
Status : Answered
Chosen Option : 3




¥ 5 T S T §

Slg
S

V|

8 9

Do
B

Use each of the below figures only once and form three groups. The three groups so
formed are:

S|

2 3

a

5 [

oyl

8 9
Ans  of 1 (1,3,5), (2,4,9), (6,7.8)
& 2.(1,3,5), (2,7.9), (64,8)
X 3.(1,3,5), (6,4,9), (2,7.8)
X 4.(1,3,9), (24.8), (6,7,9)

Dle
2

Q.45 2017 3 vfirarg Afger FarareT AREART F ASEET Ha T U F oA,
e ama i sfafea geas 3% 7 & @7 v e

Which country hosted the Asian Women’s Boxing Championship in 2017 when India’s .
iconic boxer Mary Kom won gold? Chosen Option : --

Question ID : 9864492239
Status : Not Answered

Ans ﬁ'ﬂ?—l?-lm
&)
Vietnam
AT
~ Japan
Indonesia

X 4 =T
China

X2

K 3.

Q.46 5T & HisEr Red A9 7T0T AR FiA T Tod U UH TodwT TEET &7
India’s current finance minister Arun Jaitley is a Rajya Sabha member from which state?

Al AU
ns « ) Chosen Option : 1
1.

Question ID : 9864492268
Status : Answered

Gujarat
=T
Punjab
g
Haryana
x 4, 3oL T
Uttar Pradesh

K2

X3

Q.47 3791 T FoIT et 3 [T i ToiTed & & 3 WehT & 2T &t waier foham Siam 7

Question ID : 9864493149
Which of the following type of medicine is used to treat indigestion?

Status : Not Answered
Ans

Chosen Option : --




r 8 HfeEeTam
Antihistamine

R

< 3.
Antibiotic
Hebl &1

.4 Sulpha drug

www.govtjobsalert.in

48 aiar 7 T 9ER F IR gAT 2T 2
What is the type of asexual reproduction in Amoeba?

Ans x . a.%'?r
Budding
) FATITaH FUA-FhE
| Vegetative propagation
. IST0T (FI) 15T
| Spore formation

" EIECRRCICED]
Binary fission

x

X

Question ID : 9864493397
Status : Answered
Chosen Option : 3

Q.49 A i B Trr fem Bl 1 1 21 e & 90 3w ¥ AR A aReer
FH FF HTS FH F 0 HT g, HT B o oer § il 55 9w B
FFEA FH FH 99 FH T FA &1 FH FH F 90 F T 25 o a9 B
T B, A F goe # #Yw e @ o BIEW T &H S A o o
fore smeEr?

A and B together can complete a task in 12 days. However, if A works alone, completes
half the job and leaves and then B works alone and completes the rest of the work, it takes

25 days in all to complete the work. If B is more efficient than A, how many days would it
have taken B to do the work by herself?

Ans X 1.22
V220
X218
X415

Question ID : 9864492909
Status : Answered
Chosen Option : 4

Q.50 rYy & FeeT AT & ATEY HIeT 7 TFA Foraglal 1 TET &
The number of free electrons in the outermost shell of carbon atoms in diamond is:

Ans m

Question ID : 9864493131
Status : Not Answered
Chosen Option : --

%% 5329 T T TR &2

The square root of 5329 1s:

Question ID : 9864492984
Status : Answered
Chosen Option : 2




ans X 1.94
X296
X397
VT3

www.govtjobsalert.in

4 Ryegaufiat #r wfoRrusar fhae g 22

Insulators have resistivity of the order of:
Ans 10*20m & 107 Om
10"20m to 107 Om
10720m ¥ 1077 Om
1020m to 107 Qm
10°Qm & 10°Qm
105Qm to 10°Qm
10"2Om ¥ 10~°0m
10~*Qm to 10-50m

Question ID : 9864493345
Status : Not Answered

Chosen Option

Q.53 <igAT 9T g F AT T2 T ¢ 3 F1A 7 1/6™ §| T g =afera e 92 1.5 He F=r
ST 8, A JAT O g fohclell 518 T 30T Fehell 87

The value of g on the moon is 1/6™ of the value of g on the earth. If a man can jump 1.5
m high on the earth, on the moon, he can jump up to a height of:

Ans x1_6?ﬂﬂ

6m

7.5 AreY
7.5m

0 HIeT
Om

4.5 AT
45m

X2

3

< 4

Question ID
Status
Chosen Option

19864493080
:Not Answered

Q.54 694 qﬁaﬁwmﬁﬂwwwﬁlﬁi auf 3 T 834 g1 Sch ¥ Wt

At 6% simple interest per annum a sum of money became ¥ 8§34 in &l years. The sum
initially invested was:

Ans X 1. T 650
v 2. T 600
X 3. T 675
X 4 %626

Question ID
Status

Chosen Option :

19864492707
:Not Answered

Q.55 wifzgw FEfae & gegdeeilF 3 @ 3@ § sooa fiw Fia dr g

The gas evolved when sodium carbonate reacts with hydrochloric acid is

Ans
SOLLLEL

Hydrogen
X 2 R
Chlorine

m_aﬁaﬂa—oﬂ?@?

Hydrogen Chloride

Question ID
Status
Chosen Option

19864493487
:Answered
13
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Carbon dioxide
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Q.56 37 FEwr # T W S T aag & wefg a@

7,73, 77, 79
Select the number that does NOT belong in the following group.

71,73, 77,79

Ans 1 79
<271
v 77
<473

Question ID : 9864494007
Status : Not Answered
Chosen Option : --

Q57 Ty arér FeaT % T # T3 T A
The people of the Indus Valley Civilisation worshipped

Ans 1 gATT
Hanuman
Tl
Kali
e

~ Ayyappa
epafer

| Pashupati

X2

4

Question ID : 9864492081
Status : Answered
Chosen Option : 3

Q58 ST 7 0 3T 3Terer Y TEIT g 2
Number of ¢ and  bonds in benzene, respectively, is:
Ans
X1 6 AT 3
6 and 3
V2 12 34173
12 and 3
X 033
Qand 3
X & 3 3T 3

Fand 3

Question ID : 9864493072
Status : Answered
Chosen Option :1

Q.59 2016 # TIET TF F TEIAT T TN TR & AT 398 § & &
TRE 9EHR TIATAT? FHF Ugol d ofd THT oo ClFe & AT IR I

Who took over as the new chairman of the Tata Sons owned Vistara Airline in 2016? Prior
to this, he was the Managing Director of Titan for a long time.

Ane  , TR E=p=)
Cyrus Mistry
o, T
N Chandrashekaran

x o TGTE

Ramadurai

Question ID : 9864492355
Status : Answered
Chosen Option : 3
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’ HTERY AT
Bhaskar Bhatt

Q60 Ffr 493 + 29 = 17 & ar 493 = 0.0017 =2

If493 + 29 = 17, then 4.93 + 0.0017 =?
Ans - X1.0.29

¥ 22900

<3290

<429

Question ID : 9864492880
Status : Answered
Chosen Option : 1

O o T i G A g Ad 22
Which of the following is NOT a noble gas?

Ans x . @H

Radon
, ST (Xenon)
Xenon
sreere
Krypton
GEEED]

Hydrogen

x

X3

v

Question ID : 9864493274
Status : Not Answered
Chosen Option : --

Q62 SnCl, + 2HgCl, - Hg,Cl, + SnCl,

IS AT
SnCl, + 2HgCl, — Hg,Cl, + SnCl,

In the given reaction:

Ans vy SnCl, FT=Ad 2T AT 2|
SnCl, is reduced

v ek FHTeFdipd 8T AT 2|

SnCl, is oxidised

x o HeCls HTeFHTepd gr AT § |

HgCl, is oxidised

x . HE:Clz HTeFHIRd & AT gl

Hg.Cl; is oxidised

Question ID : 9864493150
Status : Not Answered
Chosen Option : --

Q.63

Question ID : 9864493957
Status : Not Answered
Chosen Option : --




fe@r arar s = (Problem figure), fgw 71w M&Q¥£19p§ale rt. I n

Tl v & wieafea fomr @m 81 3 30w = (Answer figure) Fis @1 22

Problem Figure
Answer Figures
SN f
V& S N‘ hid
o N
A B 4 D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure
Al:serigures
SV INC IR
7 M X hidl
A B C D
Ans x1_D

X2C
v B
XA

Q.64 forelt TATGES 1 T 1 41 WERTET § 3T SEET s 720 T Wi
2l =T it ST TS W AR 4T gem?

The length of one side of a thombus is 41 cm and its area is 720cm?. What is the sum of
the lengths of its diagonals?

Ans +
X1 82 HIHRT

382 cm

x , 80 TR
30 cm

v - 98 Wi
98 cm

x ;. 90 T
90 cm

Question ID : 9864492655
Status : Answered
Chosen Option : 2

Q.65 77 24 FFE-FeEY H ST W F F| AT ¥ OF 9% F TS AN S5
T TR §1 7 Ty 78 @ aem mw §) &t Fr e

This pass is in the Zaskar range of Jammu & Kashmir. The road route from Srinagar to
Leh goes through this pass. It has been created by the Indus River. Identify the pass.

Ans
 ; HT =
Mana Pass

| Jearer 4
Rohtang Pass
vs AfF o
Zoji La Pass
| A o

Niti Pass

x

x

Question ID : 9864492100
Status : Not Answered
Chosen Option : --

Q.66

Question ID : 9864494003
Status : Answered




dit F=ir E FAT H gAAr # HOw aFT 9 e gl
Complete the following sentence with the most appropriate option.

Solar energy generates more power than wind energy.

xta;afr;rﬁ

NEVEr

 ; FHIT
always

«&a;a-i’ra:sﬁ

sometimes
HFHT

often

X4

AratafEe aeT &= geg 380 Eﬂﬁ% %O%tJObﬁalert I rLhosen Option : 2

Q.67 Tt gmen #, W REa (?) @ REw 717 3w o 9N

Ans

Fegated §| R v fwedt & swpitua s & 99 S

Q0 L H?

In the following series, one letter is missing as shown by the question mark (?). Select the
missing term from the given options.

QO,L,H,?

X 1D
v2C
X3 A
x4 B

Question ID : 9864494222
Status : Not Answered
Chosen Option : --

Q.68 13 9§ wgel TH H 34 Tl F 37 Fr A N TIAE § A7 A F A€ T

Ans

aﬁra:rrmﬁana:g aefl A $ IIAT 37 =

13 years ago Ram was twice as old as Sunny. Three years from now Sunny’s age will beg
of Ram’s age. What is Ram’s current age?

x 1 72 el
72 years

v 77 EL)
77 years

x o B4 EL)
64 years

x 5 80 EN)
80 years

Question ID : 9864492772
Status : Not Answered
Chosen Option : --

Q.69 @mer, g AR T[T et ATer AT H, AT T 5 bl F gL Al B AT

Ans

FINF 5 ¢ 12 § Al T@E Sl F A el F WA 7 1 15 F A

of| gY el 1 I et & WA FAT IHoTd AT?

In a bag containing red, green and pink tokens, the ratio of red to green tokens was 5 : 12

while the ratio of pink to red tokens was 7 : 15. What was the ratio of green to pink
tokens?

v 136 :7
/<225 :28
K312 :7

<428 :25

Question ID : 9864492845
Status : Not Answered
Chosen Option : --




_ WWW, QOVt] Ebsalarf in
Q70 37 R # =907 ®, A T T @ Hgﬁﬁ Flé? | Question ID : 9864494281

Status : Answered

71 1 |=
1 2 3 4

Select the figure that does NOT belong in the following group.

71 1=
1 2 3
Ans x1_4

X 21

v 3

X2

Chosen Option : 3

Q.71 Rw =1¢ 37 AW A FieT AT T 37 S0 @ Geioed #C @ § =7 Hassr
& FrU-w Feats Yot § HT 3w S @it & g dew § 2

Kabaddi

F Q R

s T u

Football | ¥

Cricket

-Footballfealel -Kabaddi  Fagsl -Cricket  fodhe

In the given Venn diagram which letter represents all those who play Kabaddi as well as
Football and also all the three games?

Kabaddi

P Q R
s T u
Football | ¥
Cricket
Ans X 1. S+v

X2s
K3 S+T

v 4 510

Question ID : 9864493768
Status : Not Answered

Chosen Option : --

Q72 4000 T 54% fEHa=T BT

Question ID : 9864492846
54% of 4000 is- Stafus :Not Answered
Chosen Option : --

Ans X' 1. 2025

V22160

K 32172

X 42232
Q.73

Question ID
Status

Chosen Option :

19864494095
:Not Answered




S ——— TR o [0\ 0o T R

TRt # & Pl w9 AT 8

LLoCar
T R # HEd W & e gilaens §

&R

o

1. 3Agrar Hr FFITFAT T4 B
2. AT F Fa AT F arel T F=ET T A

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

‘Warning: Consumption of alcohol is injurious to health.

Assumptions:
1. This warning is not required.
2. Non-alcoholic people are healthy.

v &)
T GEUROT 1 o7 & qEUROT 2 3edteied gl

Neither 1 nor 2 is implicit.

| Bt R sreaffea
Both 1 and 2 are implicit.

X o o 1 seafafed gl
Only assumption 1 is implicit.

| Tt o 2 stefatee ¥

Only assumption 2 is implicit.

x

x

x

Q.74 v ¥ 375 Fiey T oewH F 27 Fhs H UM T A gl ;R I A

Ans

aifer 70 fareieiiex of o2 g & & & seas = §7

A train crosses a 375 m long platform in 27 seconds. How long was the train if it was
travelling at the speed of 70 km/h?

x 1 525 HieT
525 m

160 #HreX
160 m

s 140 #HrX
140 m

, 150 Hrex
150m

X2

v

Question ID : 9864492770
Status : Not Answered
Chosen Option : --

Q.75 8 Rt & v R FEwA & B oFT # 3o wmwh & 7 o ey 5w

Ans

FFA # 4 2T AR 9@ g g=r orws wror suwr afafem & st @
ST TES T 56 T8 T I A 39 Rheen ufr & a1 @

Samit was given some money to take care of his travel during a 6-day sales drive he had to
undertake. However, he had to increase his stay by another 4 days and as a result his
average daily travel allowance went down by ¥ 56. What was the amount that was
sanctioned to him in the beginning?

X 1T 420
X 2. T336

Question ID : 9864492798
Status : Not Answered
Chosen Option : --
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